	CIS 2168 - 2 Quiz #5

	Name:


	


	Q1: (1 point) If a stack is implemented as a List, the commands ‘pop’ and ‘push’ are equal to
· getFirst, addFirst

· getFirst, addLast

· getLast, addFirst

· getLast, addLast

	Q2: (1 point) A stack is a … structure:
· LILO

· LIFO

· FILO

· FIFO

· FIFA

	Q3: (2 points) How many elements does the stack max. hold during the computation of the following RPN 
equation (operators are NOT put on the stack):

3 2 7 6 + 4 6 8 + * + * +
Answer:  _________  

	Q4: (2 points) What’s the result of the equation in the previous question ? 

Answer: ___________

	Q5: (4 points) Implement the ‘push’ and ‘pop’ methods in the following class, which implements a stack using an array (check for over-/ underflow !):
Class MyStack{

   Private Object[ ] stack;

   Private int stackIndex;

   Public MyStack(int size){

      Stack = new Object[size];

      stackIndex = size -1;

   }

// your implementations here

}


